Resolution in x (um) for PV

Ratio

Resolution in y (um) for PV

Ratio

Resolution in z (um) for PV

Ratio

=
o
N

..............................................................................................

Resolution In X (um)

[

o

L
+
T

..............

Ratio Resolution in x for merged vertices (um)

FETEEEE BT S E A
1.UD! 3 5 ‘

2
ghint Bt
-|-

£ L : S & | T A N LS
0'210 50 60 70 80 90 100 “20 30 40 50 60 70 80 90 100 0 50 6 70 80 90 100
Simulated interactions Simulated interactions Simulated interactions

= E

10%E:::

..............................................................................................

Resolution In'y (um)

I 2

10

Ratio Resolution in y for merged vertices (um)

‘
+
J
1
4+
Ratio

s
T

70 80 90 100 30 50 60 70 80 90 100 093050 60 70 80 90 100
Simulated interactions Simulated interactions Simulated interactions

"""""""""""""""""""""""""""""" N 10°ET:
10? L.

i
Resolution In z (um)

.............

10?

10

sl
1.cF

LA A

] AL H 0:1 T || H ‘|’.’|‘--:
0 80 90 100 40 50 60 70 80 90 100
Simulated interactions Simulated interactions Simulated interactions

Ratio Resolution in z for merged vertices (1m)

Ratio




	Contents
	Page 1


